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MODEL PAPER -1

TIME: 3.00 Hrs MAX.MARKS: 80

PART - A
TIME: 2.30 Hrs MAX.MARKS: 60

SECTION -1

Note: (i) Answer ALL the following
questions
(ii) Each question carries 2 marks.

6x2=12

1. The base diameter of a circular cone is
16 cm and height is 15 cm. Find the total
surface area of the cone.

2. In the triangle ABC, DE//BC, where D
and E are the points on the sides AB and
AC respectively. If DE = 5cm, BC=8 cm, AD
=7cm then find the value of AB.

3.IfsinA= é and cot B =1 prove that

sin(A+B) =1 where A and B are acute
angles.

4, Comment on the nature of the roots 6x’
—2x+6=0.

5. Poojitha says that “the pair of linear
equations 3x + 2y =5 and 2x - 3y =7 are
consistent. Do you agree with her? Justify
your answer.

6.What is the other end of the diameter of
the circle, whose center is (1, 2) and one
end of the diameter is (3, 4).

SECTION - 11

Note: (i) Answer ALL the following
questions from each group
(ii) Each question carries 4 marks.
6x 4 =24 Marks
7. 1f x> + y* = 7xy then show that
2 log (x +y) = log x + logy + 2log3.

8. Find the 11" term of an AP 15, 12, 9......
from the end?

9. From the deck of 52 cards, if a card is
randomly chosen. Find the probability of

(iv) black ace card.

the related diagram.

10. From the top of a tower of 50m high a
person observes the angles of depression
of the top and foot of another building to
be 45° and 60° respectively, the distance
between the tower and building is x. Draw

11. Write the formula to find the mode of

12cm

18. Draw a circle of radius 4cm. From a

X CLASS MATHEMATICS

getting a card with (i) prime number on it,
(i) face on it, (iii) red card of number 10

5. The decimal form of the fraction

13. The common difference of an AP is 2
thena;g —agis__ ()
A)10 B)5 ()2 D)20

14. The probability of getting a doublet,
when we role two dice simultaneously

5 1
C) - D) P
15. The number of subsets of
A={a,b,c,dtare____ ( )
A)2 B)4 ()8 D)6

16. If the angle of elevation of sun
increases from Qo to 900 then the length
of the shadow of the tower changes

as ()

A) Increases B) Decreases

the grouped data and explain the terms in
it.

12. Prove that the parallelogram
circumscribing a circle is rhombus.

SECTION - 111

Note: (i) Answer any 4 of the

following questions.

(ii) Each question carries 6marks.
4x6=24

13. Prove that 2 v/3 + 7+/5 is an irrational
number.

14. Draw the graph of p(x) =x*— 6x +9
and find the zeros from the graph.

15. Name the quadrilateral formed by the
joining the points A (-1, -2), B (1, 0), C(-
1,2),D(-3,0).

16.The median of the following 60 scores
is 28.5 Find the missing frequency

(lass | 0-10
Interval

frequency| 5 | x | 20 | 15y | 5

17. A toy in the form of a cone mounted
on a hemisphere. The diameter of the
base and height of the cone are 12 cm and
8 cm respectively. Determine the surface
area and volume of the toy.

10-20] 20-30 | 30-40 | 40-50 | 50-60

point 8 cm away from the Centre,
construct a pair of tangents to the circle,
write the constructions steps.

PART - B

TIME:1/ 2 HOUR

1—76terminates after number of
decimal places. ( )
A)2 B) 3 C)5 D)4
6. The slope of the line joining (4,
6) and (2, —5)is (
)

MAX. MARKS: 20| A)-> B)> 0= D)33)

Instructions:

(i) Answer all questions

(ii) Write the capital letters (A/B/C/D)
showing the correct answer for the
following questions in the brackets
provided against them.

(iii) Each question carries 1 mark.
(iv) Marks will not be awarded in any
case of over writing, rewriting, erased
answers.

1.Iflog??° =3thenx=__ ( )
A)3 B)5 C)6 D)9

2.If AcBand n(A) =12 and n(B) =
n(B—A)=? ( )
A)8 B)12 C)10 D)@

3. The product of the zeros of the
polynomial 2x®> —5x*> —14x + 8

is ()
A)4 B)-4 C)12 D}‘—25

20 then

4. The 21* term of an AP, whose first two
terms are —3 and 4 is, (.
A) 137 B)150 C)-—147 D)143

7. The value of sin450+ cos45e

is ()
2

A= B)vVZ C)1 D)AandB

8. If The volume of the cylinder is can be

calculated by the formula is _( )

A)2mrr? B)mr?h C)%rr r?h

D) 2n(r + h)

9. The discriminant of the quadratic
equation x2 + x+1is( )
A) — B)3 C)1 D)—4

10. If the A ABC ~A XYZ,AB: XY = 9: 16
then ar (a ABC) : ar(a XYZ)is( )
A)3:4 B)9:16 C)81:256 D)9:25

11. The centroid of the triangle formed by
the vertices A(0, 0) B(3, 0) C(0, 3)is

w8630 (.2 o)

12. The mode of the data 6,7, 5,4, 3, 7, 6,
3,2,1,x 4is 7 then the value of x
is._ ()

A)2 B)3 6 D)7

C) First increases then decreases
D) No change

17. The value of k, for which the system of
equations kx —y = 2 and 6x—2y = 3 has no
solution is (
A)2 B)-3 (3 D)6
18. The sum of two consecutive odd
numbers is 24 and the product is 143 then
the numbersare_( )
A)13,15B)9,11C) 17,19 D) 11, 13
19. If the total surface area of a cube is
96cm?, then the side of a cubeis( )
A)2cm B)4cm C)6m D)12cm

20. The number of pair of tangents that
can be drawn to a circle which are parallel
to each other, are ( )

A)1 B)2 C)3 D)infinite
ANSWERS TO PART - B
2.A, 3B, 4.A, 5D, 6.B,
8.B, 9.A, 10.C, 11.A, 12.D,
14.A, 15.D, 16.B, 17.C,18.D,
20.B.
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